R 275 (55 5 RBIR)

CEMES 024
a4« AFL - BRORERE
WIEMHARA KRR
g T ¥ B oM 5 HFE - ELE 1 B L F %My +&
MR TEEDOLH | T HIX AR KK T
B THEOLFT BT {HET N
a5 AE10 A 16 B AR5 410 A 25 H »5
AH B e N N R N R T B
AN AL BT WITHERT NI R & A G R B 2HH A 54 10 H 24 H
8 4 % 23,931,600 M 2HH E B 2,175,600 M
¥ & i K 26,510,000 M 26 1 H BLAE 2,410,000 M
% K ) PR M K 23,931,600 [ )H W E B 2,175,600 M
PR XX 4 R WRERTE
KoM FE G - T
* At BT e K ET413
waEREMm X &
oo = OB kosk sk sk sk
WDIDBEIETOT R TORMFICE L TIHETHHZ L,
1 549 H 8 A fHF TARLAZEL I\ T M X B A BRBE K BB fifi T3 24/ D— B AMLS IR AEZ R IHL CUVD e,
2 %ﬁ;;lszfa)g%%%;?ﬂﬂ{ﬂm%fuzsﬁfﬁ}%%%l%%ﬁ%kn%hu%mé’ﬁ'ré%<%%E5EEE$I$A$L%SJJDE%%‘%%(u
T 1EV9,
= 3 ARLBMHGAREE) H B SICB O TRO B TOZRMELMTIL TODIE, 72720, (DIHBITF ARV TIE, ARSI AR
B4 BB X er@snilo 0 Ecsl SR L R i b i,
A KL B B K ) ABCRESLCOSERS TA R LECHLIL,
(2) A EISEH SN TOBATEOFHEMAHITHNIZHY, 2>, AR THIRDERIEAT DAL THDHI L,
(3) ML THIARD FATHAN B SUTE IR H AR S CE DL, TOHME IZH > TUL, BRSO TEFE 7R BRSNS
JNEGA B LARTZ32cH LA B D&,
(4) B THEERR T3 4 450 1 4 1 B TR 1L 74E0) 1 TSR 55 145 OBLEIZIE-S<F4 5 1L th T2, U3 hidiak
}%ﬁi HERINARDIRA P ALBINE OFR A BB CPRR 1 TN TR EFE8 5) 5104554 5 T HE T E o<
AN
/u Cl Hq:{ﬂﬁji_t
mmww%f% s stk
%L HE B TEMES ORI PN CRARHIBRANAS LL_EORARMMFS PR E I TE LI E TS
o INCT AT 3 ‘
B OW S BB e T e AFLGAE SO e ARLGAE PO e T
1| Bk mEEs 21,756,000 ek | e
2 HEEFHIAR 21,756,000 bk | e
3 (Wlluﬁ;ﬂ 24,000,000 ek | e
4 (KRBT 21,756,000 kx| e
5 (Wﬁwﬁi% 21,756,000 kx| e
6 | A=A 21,756,000 kx| e
7 WEELAR 21,756,000 kx| e
8 | JUN PEimE T 24,100,000| #ex | e
9 ()7!<J$I % 21,756,000 e+ | s
11 (ﬁ)(i*iEﬂI %5 21,756,000 bk | e
12 R 21,756,000 kx| e
13 FOREERR N 21,756,000 x| s
14| WERTHE 21,756,000 #+x | e QLB
15 B AR 21,756,000 kx| e
16 LT M 24,100,000 kx| e
17 RJFEEER 21,756,000 s+ | s
18 W15 T.3(H) 21,756,000 kx| e
19 WRFKEHA 21,756,000 kx| e
20 (B ZEmAE AKLEFIR | wer | o
21 (h)peBiEE AFLEFIR o | o
22 WFE SRR 21,756,000 ek | e
23 WIILHEITA 21,756,000 ek | e
24 R RERR 21,756,000 kx| e




L)

| ESES | fR024
SR 5 EEE W 4 KE®R BTER 1 2 ﬁﬁ%ﬁ A
= N >
%) 4 o T X AT BR BE A He i T8
fe R S D
D % BT B THARET H PN
FEE L=183. 5m
) -MITM (R CHLO1 50X 3, 000 3#H L=78. Om
BETH=1250) L=24. 5m
Wiga/))-bL(t =10 cm) A=62. O0m?2
Wesga )= L(t =10 cm) A=140. Om?2
) -MITMT(RCHLO1 50X 5, 500 6FfH) L=166. 5m
fe R S D
D HE o




